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o oL data t=(\-550)/5(
L =(Mo+ o)f2 logVo=-0,35[u)~u 12
log 0=-0,35i-u ]?

10gLo=-0,35Uy~Us7q 2

570 Adapt.: A, =570

maximum
=-0,08

thresholds
ta=0,00, $,=0,00

EE610-1N
Ur=(A—550)/5(
log/Vlo=-0,35lu\—u 1
log 0=-0,35l-u 12

_o=1-Mg; _0:1‘ o

'\“axlmum

( |og( m)=-0,08
L m=0,81
thresholds
ta=0,00, =0,00

EE610-3N
Ux=(A\-550)/50
log)Vo=-0,35[y~U-.]?
log 0=-0,35lu-u 12
n=2Mo; n=2 o
Adapt.: A, =570
maximum
log(L |nm)=-0,08
Linm=1,63
thresholds
ta=0,00, £=0,00

in:545, 570, 595
n n, Lin data
L =(Mg+ o)2=Mn+ n
Lin=L .=(Mnt+ n)/2
n nLin

2

n _nL ndata

L =(Vot o)f2=Vint n log/o=-0, 35[uA—u ]
L in=2-Lin log o=-0, 35[uA u 2
o L_In n—2‘ n

|og(L|nm)— 0,08
Linm=1,63
thresholds
ta=0,00, £=0,00

lin:545, 570, 595
EE610-7N

EE610-7N

logarithmic [

L =(VMot+ o)/2

o oL ]data Ux=(\-550)/5(
log/Vlo==0,35uy~—u 2

log 0=-0,350,-u 12

logL 4=-0,35[ur~Us7d?

Adapt.: A\, =57

maximum

© log(L . m)=-0,08
L mo0i
thresholds

. 1a=0,00, =000

700 A/nm
EE610-2N

_o L Jdata  uy=(A-550)/5(

log/Vlo==0,35[u)~us]

log 0=-0,35i)—u 12
=1=Vio, 0—1

rmaximum

! log(L -m)=-0,08
L m=0,81
thresholds
ta=0,00, 1,=0,00

log:545, 570, 595
logarithmic [

EE610-4N

n. n Lin] data Ux=(A-550)/5(

L =(Mgt+ o)f2=Mp+ n  loglVio=—0,35[\~U:-]

Lin=L . =(Mn+

log[Mn, n, Lin]

/2 log 0=-0,35Uy-u ]2
n=2Mo; n=2 o
Adapt.: A\, =570

0,5

maximum

log(L |nm)=-0,08
Inm=1,63

thresholds

tg=0,00, 4=0,00

3 U

\

lin:545, 570, 595
Iogarlthmlc [

700 A/nm
EE610-6N

n _nlnldata  u=(\-550)/54

L =(Mgt o)f2=Mp+ n  loglVo=—0,35[\-u ]2

|—7In—2 I—In
log[V_n,

Iog o——O 35 uh—u

0,5

apt )\ —57
maximum
Iog(L|nm)— 0,08
Linm=1,63
thresholds
ta=0,00, £,=0,00

3 U

\

lin:545, 570, 595

700 A/nm
EE610-8N

o o L data
L =(Vot+ o)2

Ur=(\-550)/5(
log/Vlo=-0,35luy—u 2
log 0=-0,35l-u 12
logL o=—0,35[y~Us7q 2

Adapt.: A\, =57

maximum

thresho]ds
ta=0,03, 1=0,00

700 A/nm
EE611-1IN

Ux=(A—550)/5(
log/Vlo==-0,35uy—u 2
log 0=-0,35l-u 12

o=1-Mg  o=1- o
Adapt.: A\, =57

il smum
I TN\ 0 o fogL m=-007
) L 4’ L m=084
| thresholds
.

4 ta=0,03, ,=0,00

in:545, 570, 595

n, n, Lin data
L =(Mg+ o)2=Mn+ n
Lin=L . =(Mn+ n)/2

n nLin

EE611-3N

Ux=(A-550)/5(

logIVlo=-0,35u\~U:?

log 0=-0,35lu-u 12
n=2Vlo; n=2 o

Adapt.: A\, =57
maximum

log(L |nm)=-0,07
Linm=1,69
thresholds

ta=0,03, 1=0,00

2

1in:545, 570, 595
n _nl_ndata
L =(Vio+ o)f2=\in+ n  loghio=-0,35-u-"]?
L in=2-Lin log 0=-0,350\-u ]?
I |—_In _—2‘ n _—2‘ n
Adapt.: A, =57
pimum
10g(LInm)=-0,07
Inm=1,69
thresholds
ta=0,03, 1=0,00

Upn=(\— 550)/5

3 U,

\

700 A/nm
lin:545, 570, 595 EE611-7N

EE611-7N

TUB-test chart EE61; Relative elementary colour vision

Sensitivities logLMS-R17_M$and combinations; thresholg=D,00 (left) and 0,03 (right)
Y

logarithmic [ Vo,
L =(Mot+ o)2

log[Mo, o L]

o L ]data

7
Z

Ur=(A-550)//
log/Vlg==0,35[uy~u
log 0=-0,35[u)-u
logL o=-0,35[ur~Us7d?

570 Adapt.: A, =570

maximum

© log(L . m)=-0,07
L m=0,04
thresholds

Y ta=0,03, 1t=0,00

EE611-2N
Jdata  uy=(A-550)/5(
log/Vlo=—0,35[u)~Uu:]
log 0=-0,35l)-u ]2

o=1-Mo;  o0=1- o

fraximum
gL - m)=-0,07
L m=0,84
thresholds
ta=0,03, 1t=0,00

logarithmic [ Vp,

Lin=L .=(Mnt+ n)/2
log[Mn, n, Lin]

n Lin] data
L =(Mot o)f2=Mnt n

Ur=(A-550)/5(]
logVlg=—0,35[u)~Uu:]
log 5=-0,35ly—u ]2
n=2Mo, n=2 o

Adapt.: A, =570

0,5

maximum

log(L [nm)=-0,07
Inm=1,69

thresholds

tg=0,03, 4=0,00

Iogarlthmlc M p,

_( 0+ 0)/2=Npt n

_n

EE611-6N
Ur=(A-550)/5(
log/Vlg=—0,35[u)~Uu:.]
log =-0,35-u ]2

_n=2-Mpn; _n=2-

570 apt.: Ay =570

_n L_in] data

maximum

log(L |nm)=-0,07
Inm=1,69

thresholds

tg=0,03, 4=0,00

lin:545, 570, 595
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